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M1s|=d CHE Of| A = 3z
- =
Of| AFH % of| Akl % Szt %
gt A 2,013,288 | 100.0 1,996,217 | 100.0 17,071 = 0.72
AHSHIA 7] 526,060 @ 26.1 508,989 | 25.5 17,071 = 3.25
Bt Sz} 1,487,228 | 73.9 1,487,228 | 745 0 0

BAadeE ARt 325%¢ 1,7079 13- Qo] Zvtaig o,
Z3h= HEol g

o
™ .
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AN A Al = o] AL

HES 29 20099% A1 #7878 ks AlE ikl 814

2
o 2,917 8F Yo E x4k 8059 29697 Btk 1.1%<] 8% 9,822
3

<E—3> AMEojatet #2

M1s|=d CHE Of| A = 3z

T 2
O &Y % of| Akol % EPI %
g A 81,427,918 | 100.0 | 80,529,690 | 100.0 898,228 | 11

Ab e b 22,358,845 | 27.5 21,313,299 | 26.5 1,045,546 4.9

SHA 2| 58,150,930 | 71.4 58,320,053 | 72.4 £2169,123 | 20.3
NFes 918,143 1.1 896,338 1.1 21,805 2.4

AP H] & 2239 58347 Sl o w WExd4k 2139 1,329% 9
Kt 49%<] 109 45547 65 ¥ o] &

FAEFH = 5819 5093rdo= TxdAak 5839 20054 334
Bt 0.3%¢ 19 69127 335 do] a8k =

AFSEu = 99 18147 3P ®E Fxda 89 96337 8HY
BT} 2.4%¢9] 21804 54 Dol Z713t9 S
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F}(3.8%), o HAWA(1.8%), FHAAWA(0.004%)e] A=oike] =7}
sk A o] 1_5778 Q‘:}
<E-—4> AUEER 2MH A0l 70
(Er9l © &)
*13] 52 h0f At =z z
= ofl Aoy % of At % | Zztoy %
st A 81,427,918 [100.0 80,529,690 100 898,228 1.1
AHESHA 1} 7,956,808 9.8 7,668,461 9.5 288,347 3.8
Hts =0} 4,197,400 5.2 4,209,596 5.2 212,196 A0.3
ATEEHAHIA] 12,157,058 | 14.9 12,248,678 | 15.2 291,620 A0.7
ATAEAHIA 9,067,024 | 11.1 8,340,193 | 10.4 726,831 87
ZTZAHEN 9,305,505 | 11.4 9,359,674 | 11.6 154,169 A0.6
b [P EA= LY 10,718,260 | 13.2 10,741,227 | 13.3 A 22,967 A0.2
A=A 8,362,041 | 10.3 8,384,839 | 10.4 N 22,798 A0.3
S oA 6,796,184 8.3 6,676,817 8.3 119,367 1.8
I AN 6,387,268 7.8 6,387,008 7.9 260 0.0
SMAEEN 6,480,370 8.0 6,513,197 8.1 A 32,827 A05
2. agtel A af M=ol Aot
A A Aduk] A AlFE o Aok 799 5630 8 Yo E X
oAb ThH] 3.8%9) 29 8834 TH o] Z=71E L.
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<E—5> AHAEN MEoMor 2
(Chel @ &)
E 15| =4 S0l A 5 &
Of Abod % Of Abod % SHM %
g A 7,956,808 | 100.0 7,668,461 | 100.0 288,347 3.8
itcl’kigujl?é 3,929,999 @ 494 3,653,397 | 47.6 276,602 7.6
SHA 201 Z4H| 4,005,004 | 50.3 4,015,064 | 52.4 10,060 | A0.3
MFets 21,805 0.3 0 21,805 100
AbHEl = 7.0%<%0 1,219% 66 9ol Frtellem, A >-FHI= 0.3%
1 1,544 4x o] A+
<E—6> MTAY Sy
(Bt © &3)
s &
MSFARE & M= (x M13|:d | ghxofat =104 | b2
AT [HIS ARH| 3,920,999 | 3,653,397 | 276,602 7.6
AHE{T A 3,372,190 | 3,056,183 | 316,007 | 10.3
AXEREZIARY L S ABERZEA[A [ 220,000 0 | 220,000
Ol aH|HZE  [JCHEM=E=ES 2| 262,800 0 | 262,800
A2 =] 21,805 0 21,805 100
HHNX|& 21,805 0| 21,805
His27|E} D HTIHEE 21,805 0| 21,805
27N AR EIE =5 WAk LA Abglell 29 23nkd, <l
B2 B 29 5009ntd el Frbekgler, AF-&EH| = ALk
Zaukel 21800 53X ol FrteldleE. 2 AW adzt Vg %
o] Azhat 959,
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o] 0.3%¢<] 1,219%F 63 o] a3+
<E—7> @sFAxa MEoitet 72 (el @ HE)
R M1 58 ol &t s &
- Of| Aroh % Of| ol % S %
g A 4,197,400 | 100.0 | 4,209,596 | 100.0 = 212196 | 403
Ab 9 H| | 4,052,000 | 965 & 4,048,752 | 96.2 3248 0.1
2| 145400 | 3.5 160,844 =~ 38 | 215444 | 196

AFEIE 0.1%<1 12199 63 o] Frtetdlen, g Hl= 9.6%
o

¢l 1,544%F 43 o] FHAe &

A7 ARH = YR AWY Ve d AW 3] 450000, s
AF Abe REOE 7ANY, 2UEEY 9 BF 4260 6790l Ftel
o] o
AN T2

<E—8> MTAldY ZoyLyo] (hel @ &)
MEAT Ql AEET|= 15|34 | chxoi|AH S &
T H < —=7 2= 2TS o= (i %ljzll-o—l-! HI%
A0 S7|8S Algid] 4,052,000 | 4,048,752 3,248 0.1
BISHBET [HEZA] 516,857 459,233 57,624 | 125
o|lgAaA e 29X |
MZ2o|2Adll 7=l 3] 3,000 0 3,000
=ELE] 1,500 0 1,500
SIAHZEAL Al ZEECHS] TH
=19 EAIN A PNON el 50,000 0 50,000
SIRZ=AP | R HA 20,000 0 20,000
Agetal 29
SSTEURAEE 4,266 0 4,266




JF TR0 28 Quks) A Al Edakoke 1219 57059 831Y o s
Tz oiE] 0.7%9) 9,1627H 0] 7F23H S
<E—9> HFZSEuA MZo|ator 7
(Bl © M2l
1352 chm0f A = 2
T &
oAb % of AbY % | A | %
2 A 12,157,058 | 100.0 | 12,248,678 | 100.0 £~91,620 | 207
PRI
Afoit] 1,905,137 15.7 1,972,400 16.1 167,263 | 134
SHA 2 91H| 10,030,521 82.5 | 10,054,878 82.1 ~24,357 | ~0.2
=R 221,400 1.8 221,400 1.8

ArFHl = 3.4%< 67260 331 o] A

1

;

Q1 24357 7TH o] AT

FAF-FHl= 0.2%

<E—10> HSAlY SOy
(Sl : A )
= I
MIFAIRS 2 A7) X Mgl | oA s ’DHIO
0 —1 =
AgrEZist ARd| 1,905,137 | 1,972,400 | 167,263 | A35
A gzZE 310,823 264,660 46,163 @174
SINPEESE]
SHE oRMallA MK 22,500 0 22,500
37|58 3 op|E7 22k dR| 18,300 0 18,300
| &
7o B Jd| He| 17,600 17,600
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5. E3FAMEABAM ME=0o|Atoh
AFEAR A AT AWE A AZ S 900 6702 4R YR
Tz Ak tin] 87%<% 79 26837 1Yo e =
<E11> HREMBAYUA MEOIMO F3
2l : &)
. H13| 52 Eo 5 o
= ofl Akl % of| Aol % =7kl | %
st A 0,067,024 1000 8340193 | 100.0 | 726831 | 87
Nkl 64,063 | 2 213,972 | 146 0091 | 61.8
Sela 1964063 217 121397 . 750, .
iMool | 6955640 | 767 | 6978900 837 = 423260 | 403
X2 a=n| 901,400 | 1.6 201,400 | 1.8
AL H = 61.8%¢]1 79 50097 1xH Yol FUIstF o, FAHSAH =

0.3%<1 2,326%F o] #HA3 A+

<E—12> MEAlQY ZoHLjod
(Ehel @ M)
= Z}
HISAKR 2 AbED|% Sl T
== PA =T N foi]a ]| 1,964,063 | 1,213,972 750,091 61.8
== L P 1,056,067 227,690 | 828,377 |363.8
HAAAEH|
SCHORMMIE] AlJAl B4
SIAIAl SIRFTAL 15,000 0| 15000
bR S
SotEoiZH HED | 8,800 0 880
HR1190FHMIE] OfF Al
2X|ofed 750,000 0 | 750,000
M| 56,465 0| 56465
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6. ST MZ=0iLtel
TFAGA 2w ANbSA AlEeiiehe 939 5507 5HYew Yx
ol 2b diH] 0.6%<) 54167 97 Qo] FHAsk S

(Etel @ HJ)

L M1g =4 ChX Of| AF = 7t
TE Of &bl % Of| AFOH % =gtol %
gt A 9,305,505 | 100.0 | 9,359,674 | 100.0 | 454,169 | 0.6
e Pl
otu| 1,503,435 | 162 | 1,539,181 | 16.4 | 435746  A23
dM2gdl | 7,640,653 | 821 | 7,659,076  81.8 | 418423 | 402
A &-SH] 161,417 1.7 161,417 1.7

AbH = 24%1%) 35747 63 o] Fastler, AHTIH = 0.2%
o

91,8420 33 90] sl S.

<E—14> MEARY LY

MR 9 A7 | 18 | BRI e T
APZisl Aldd] 1,503,435 | 1,539,181 | A35746 | A23
AdtedE7) 281,728 = 237,155 | 44,573 | 188
ESINONFSESE]
70| =X MK 10,000 0| 10,000
AHEH| &=
FRAIEIEH|ET| 17,600 0 17,600
FUEFX7| 1,600 0 1,600
HEATF| S0|AE 4,500 0 4,500
STAEM AF
AMEAL X HL SAL 20,000 0| 20,000
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7. HELATA M=ofaot

AR A &

0.2%¢%]

g Auks] A AEZ oAk 1079 1826 o ® o
A tE] 0.2%9%1 2296%F 7AYol A .
<E—15> HNAAEIM ME0 Aot 2
(Chel - &)
M15| =4 S04 AF s A
2 =2
Of| At % 0f| AteH % St %
g A 10,718,260 | 100.0 | 10,741,227 | 100.0 A22967 | A0.2
= U= AT 5
et 709,041 253 | 2712289 | 25.3 A3248 | A0
YA 4H| 8,009,219 | 747 | 8,028,938 | 74.7 A19,719 | 202
AIEE 019%9) 3248glo] radlglon], e du
1,971% 9% o] A3 S
<E—16> AMFAIUE ZoHLjHA
(Chel - &)
s U
MEAIA 3 AT X H1a|:=d | Eh=0iat
S | HlE
AUk Zist ALRIH| 2,709,041 | 2,712,289 | 23248 @ A0.1
A7} 1,391,859 | 1,308,435 83424 @ 64
A ||
A} AHERIT AE] A 60,000 0 60,000
CIIOIMMIE] O|=2r MX| 8,000 0 8,000
AHIAH| &=
FUHAFTH AT | 8,000 0 8,000
SHREXT| 17,600 0 17,600




AT am A AT Auk3]| A AlE A4S 839 6,204 1Yo E T =
of| A thH] 0.3%¢] 22797 83 Po] A3y &
<E—17> GESAdM MEoAtor 72
(Thel A 2)
M1s|=4 == O A s
.
O AtoH % Ofl AkoH % =70y %
g A 8,362,041 100.0 8,384,839 | 100.0 122,798 A0.3
e 262 1 1,496,451 17.8 6,189 0.4
Aboit] 1,490, 7.8 , ,45 ) AB, A0,
SHA 2 91H| 6,650,779 79.5 6,667,388 79.5 16,609 A0.2
AEEL=SH| 221,000 2.6 221,000 2.6
AP H] = 04%92 618 9F Yol FAsllon FAHE-IH = 0.2%9

1,660%F 96 o] skl

<E—18> MEAIH

(CH2] @ & =)
= 7}
MIEAIRS & AET [ HM1sl5d | g2=0d =S on E't,lo
ST =
AHIEZISE AleiH| 1,490,262 | 1,496,451 A6,189 | 204
At s 235t 1,228,085 | 1,303,603 | ~75518 | A58
A OISR K|
FHAOIMMIE] X2 |72 5,000 0 5,000
== L A 262,177 192,848 69,329 | 36.0
AN |AEAH|
o|RIX|dC) &= 40,000 0 40,000
SHOFMMIE] EFATIM ZAL 7,000 0 7,000
SHARR| AT SFETHM ZAL 5,000 0 5,000




(A2783] - F g A=) 25

9. SEAWAM AM=ojiket

(B2 » &)
M1 =4 CF 3R Of AF = 7
- =
Oof| Ak % Of| AFOH % =gtol %
g A 6,796,184 | 100.0 | 6,676,817 | 100.0 119,367 1.8
~SHTE 1,436,342 | 21.1 1,303,665 | 19.5 132,677 @ 10.2
AtdH| T ' s ' ’ '
A 2G| 5,359,842 78.9 5,373,152 80.5 A13,310 0.2

ARl = 10.2%9%) 19 3267 THEo]l Uk, A -FH=

0.2%¢<1 1,331%kd o] s+

<E—20> MFAIHE SHLHA

EEIESE)
= Z}
MEARY 2 M7= AEFEE | RN g Tuig
ST =
AUk Zist ALRIH| 1,436,342 | 1,303,665 132,677 | 10.2
A =21 245} 1,002,083 | 1,057,936 | 255,853 | A53
ENT TS RSN
A2 X|oit] 223, ) 7,200 0| 7200
== P 434,259 245,729 | 188,530 | 76.7
HANAE|
BEM HAF 2AA JHM 9,760 0 9,760
= ol 2|oEel ZAp 170,210 0 170,210
ESZINEIEIES
S0t Hot ZH|HED| 17,600 0| 17,600
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<E—21> ZHPLUM MEolldtet 72
(THel © M 3)
M1l = ofl & s &
- =
Of| &roh % Of| AtoH % =tol %
e A 6,387,268 @ 100.0 6,387,008 @ 100.0 A260 | £0.004
ST 2,209,22 4.6 2,198,303 | 344 10,924 0.5
Aboit] ,209,227 | 34. ,198,3 : , )
M 2| 4,032,841 63.1 4,043,505 = 63.3 | 210,664 A0.3
PN I=E =18 145,200 2.3 145,200 2.3
AFd Rl = 0.5%<1 1,020t 47 9o Frtetglen, g Hl= 0.3%

¢l 1,066%F 431 0]

<E—22> MEAIYEY ZOoHLjHA
(CH2] @ & =)
= = S|= x s 4
MIEAIRS & AET [ HMisl=d | E=xojjat TR
AUk 7i5] AlQIH| 2.209,227 | 2,198,303 10,924 05
A7) 1,499,748 | 1,440,850 58,808 | 4.1
AN |AEAH|
FSUNVS PPl N 4,704 0 4,704
AHEAH |k
RISZA|AH (DA SSISER]) 40,000 0 40,000
Fob "ol ZH[ED| 8,800 0 8,800
HAH190MMIE] Al
EIAH19QMMIE] AQSE 50,000 0 50,000
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1. SHAUM MFo)det
S A A AuES]| A M E A ASES 649 037RFY 0% T F oAl
tH] 0.5%¢1 32829F 7o)l 7HASHA =
<E—23> Sd2UM MEodet 72
(Bhe @ A l)
H13|=4 =5 0f A 5 &
2 =
Of| AkH % 0f| AteH % EapAgel %
e A 6,480,370 | 100.0 | 6,513,197 | 100.0 A32827 | A05
Ae2d71s)
olu| 1,159,339 | 17.9 1,174,889 | 18.0 A15550 | ~1.3
YA QodH| 5,321,031 82.1 5338308 | 82.0 A17,277 | A0.3
AFH = 1.3%% 155500 FAasl o, FALIH = 0.3%2
1,727 74 o] A A,
<E—24> MEAIGYH SZHLYA
(Bhe @ A l)
5 X S|= P s 4
MEAIR] & AET|E Hisl=d | E=xofat =700 | 0|2
AUk 75t AlRIH| 1,159,339 | 1,174,889 = 215550 | A1.3
Adiaded 7t 283,240 237,471 45,769 | 19.3
A ||
HAIEFETNM(EA) 30,000 0| 30,000
DA TAZIR) 10,000 0 10,000
AEEAH |&ks
Fof Ao Z2d|JE| 8,800 0 8,800
SOEFEX7| 5,600 0 5,600
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T AES

)

A Yl iker2 209 1,328%F 8o = T4k 199 96217 7T YK
o} 0.72%%) 1,707%F 1ol F7Fsk3l =

<E—25> M ojatot 2

EEEESE)
SIEES: SEJIY z
7 o=
of vl % of &bl % | Bz %
2| 2,013,288 [100.0 1,996,217 100.0 17,071 0.72
M el = ¢l 166,206 8.3 144,401 7.2 21,805 13.12
H = Z 1,847,082 | 91.7 1,851,816 | 92.8 ~24,734 | 20.26

A ¢ ol AF]EE sowm, A2l
13.12%¢<1 29 2691 4,7347H¢1

of Zadtel, AleFYe FHE WhE HEFEe FAT Qo] 549,

rlo
(@)

N, HEae dxdi 34 F A" maREzEo] dH HigdE
O
=}

FAEREE 20 AE 325% 1,707 1x 9ol Frtsksler,
Fogxge Aol fle.
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<HE—3> AMEodtet 72

M1s|=d CHE Of| A = 3z

T &
Of| kol % Of| AHoH % Z 2ol %
g A 81,427,918 1000 = 80,529,690 | 100.0 898,228 1.1

o1 H 22,358,845 | 27.5 21,313,299 | 26.5 1,045,546 4.9
SHA 2| 58,150,930 | 71.4 58,320,053 | 72.4 £2169,123 | 20.3
NFes 918,143 1.1 896,338 1.1 21,805 2.4

AP H] & 2239 58347 Sl o w WExd4k 2139 1,329% 9
Hth 49%2 109 45549 631 o] 713l .

FAEFH = 5819 5093rdo= TxdAak 5839 20054 334
Bt 0.3%¢ 19 69127 335 do] a8k =

AF&Ed = 99 18147 3xdo= Fxd4k 89 96337 83 d
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